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PART A: Grammar & Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- A: Have you finished typing the report?
B: Yes, I N | it five minutes ago.
1) did / have finished 2) have / finished
3) did / finished 4) have / have finished
77- People from other countries think that British are cold and unfriendly, ------------
1) are they 2) aren't they 3) do they 4) don't they

78- A: What's happening in that room?
B: The problems ------------

1) are being solved  2) were solved 3) have solved 4) will solve

79- A: - is your sister?
B: She has gone to school.
1) Where 2) What 3) How 4) Why

80- It was late ---------—-—-- I was tired, ------------ I went to bed.
1) but/so 2) so/ and 3)and/so 4) but / and

81- We should ------------ a list of everybody who would be willing to help the poor students.
1) translate 2) invent 3) found 4) compile

82- Carmen has accepted the full ------------ of all the animals, the children, and the house.
1) dedication 2) responsibility 3) experience 4) interest

83- The newspaper readers select the interesting issues and don't read the ---------—- ones.
1) boring 2) difficult 3) moral 4) simple

84- Itis his job to ------------ the people who are in dangerous conditions.
1) install 2) confirm 3) protect 4) prefer

85- When people don't know what to teach their children, their cultural ------------ is in
danger.
1) religion 2) emotion 3) heritage 4) inspiration

86- My father is ------------ of the fact that he's never been in a traffic accident.
1) special 2) common 3) proud 4) serious

87- Many believe that home school students will find it difficult to ------------ enter society as
adults.

1) certainly 2) successfully 3) directly 4) suddenly
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88- This is a very difficult word. Many students have to ------------ its meaning in the
dictionary.
1) look at 2) look after 3) look for 4) look up

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

When 1 first started learning English ten years ago, I could hardly say a word-'hello’,
'goodbye' and 'thank you'. I went to classes two evenings a week and I was surprised at

how (89) ------------ I made progress. During the course we learned (90) ------------
vocabulary and studied grammar rules. The thing I enjoyed most was being able to
(91) ---=--mm--- speaking with the other students in my class.

After two years, I went to England to a language school. It was in Cambridge. I
took a three-week course at a very good school and I stayed with a local family. It was

(92) ------—--—-- experience and I picked up some language from speaking with my host
family and with other students from all over the world. I really improved my
pronunciation as well. When I got back to Spain, I was so much (93) ------------ .I
could actually start a conversation with my teacher in English.

89- 1) quickly 2) certainly 3) carefully 4) calmly

90- 1) lots 2) lot of 3) lots of 4) at lot

91- 1) magnify 2) practice 3) discover 4) identify

92- 1) ordinary 2) wonderful 3) famous 4) moral

93- 1) most confident 2) the more confident
3) the most confident 4) more confident

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

For most people, newspapers are valuable as carriers of news. They are valuable for
other reasons too. With their wide variety of text-types and language styles,
newspapers are a good basis for language study. They are sources of language which
you will not find in conventional language learning materials and which will help you
to be familiar with and use many different communicative skills.

Newspapers also help you to share ideas and to understand cultural values, and the
great variety of information in them makes them interesting to work with.
Furthermore, if you do not work with newspaper samples during your language
studies, you will be badly prepared to manage them when you live or travel in an
English-speaking country, such as Great Britain and the United States.

It is important for you to get into the 'newspaper habit' by reading a little of an
English language newspaper on a regular basis. If you are unable to buy one, it will
often be possible for you to read English newspapers in a school, college or city
library. Regular reading will help you to understand recent news events more clearly
and recognize differences in life-styles. I hope that, at the very least, this unit will
encourage you to adopt the newspaper habit.
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The best title for this passage is ----------—-- .

1) Carrier of News 2) Sources of Forms of Language
3) The importance of Newspaper 4) Newspaper and Cultural Values
The reason that causes the newspapers to be interesting for people is ---—-----—---
1) a lot of different information in them  2) understanding the different llfe styles
3) the value of them for our travelling 4) familiarity with many languages
You can find from the passage that the newspapers are ----—-----—- s

1) everywhere for example in a school, college or city library

2) just in the learning centers

3) only in the stores and in the learning centers

4) just in the stores

By writing this passage, the author wants ------------ .

1) you to learn English language

2) to use many different communicative skills

3) to encourage you to buy a newspaper

4) you to read newspaper regularly

PASSAGE 2:

Together with its benefits, the automobile brings problems. The problems brought by
automobile can be divided into two parts: good and bad sides. On the good side, the
automobile is fast, dependable, and flexible. It takes a person where he wants to go
when he wants to go. It protects the driver and his passengers from rain, snow, and
sun. It comes in many colors, sizes, and shapes to please nearly every personality. On
the bad side, the automobile adds to air pollution. It requires the use of much land for
highways and parking lots. It consumes billions of liters of gasoline. It has enabled
many people to leave the farm for the cities and the cities for the suburbs. Thus, it has
become an integral part of the life style of the 20th century man.

It's pomted out that ------------

1) the 20" century man doesnt like cars

2) billions are spent on the design of new cars

3) passengers are not happy because of the noise

4) every person can find a car suitable for his taste

One advantage of automobile is that it ----------—- .

1) uses up a lot of gasoline

2) needs too much land for highways

3) protects us from negative weather conditions

4) makes life difficult in this century.

Automobiles have a lot of negative things but ------------

1) many people have to leave cities 2) we cannot do anything without them

3) the air pollution increases day by day  4) one cannot find a place to park his car

Q @sanj esheducatlongroup i g0 3T sl yg0 57 p1SL Jols
(S35 S0t 1 b it 1T pplin 4 s gy SoliS JalS Al 3 05)le w39 g0 Sl 3158 lelloglo &

(www.sanjeshshop.ir iyl s 15) WSS ani |y <am &8¢ dowiud GOLS dcgomo ,L»LWL




4 |
S 5
_ ) v BN\ I — 3 ;
N L 3 | ) %]
P ™ i
= e Ak 3
-y D 3 58 i) > ol 3
- - » AC 3 ° 0" - > | 3 R 2 B
3y 3 M. 3 e
) K g 2 g ol 3
| A kL 0) | A =
by 3 5 @ Yo Y aﬁ Mu ; ﬂr 1
/U - () wu K. u w‘ “ — 1 o
///hv N b 4 : 1 % Q|2 2 <k
=Y 13 “y &W 53 5 ]
2 A0 . £ 3
N 37 2 |
% W v W. MWMWN +M ,—Mn 1
. 3, Y € |
3 & 3l S
@ 0 B 23 4
2 o~ SHEHE 5|
SR i = .w 4 Mm 3
o pee . $ |15 | -
e o iy B ¥ |
. i | *
&8 2 w . Slal-1s & ovvvm wu
. 3 2147 |7|7 £ |
; 3 @ 3 a0 ,M wm
S -~ a2 ) )
oo -2 . 35 i I
ARG 2 . . al-1<l- RN
. - REHEHE - B
o . & ; il il i soovsl )
o k : el
R B * — ) K wwwwmv«vw 3
o 3 9 & |3 ol
MWMW«VA«M T .‘3 9 2|22 W%«ww«» 2 w
o o 2134 ol
o = e AEIEIE - K
SO o Y %W%WM 8
ST o= : &‘w»««%
R - o
R i roaad |
YRS ) "WAWVVKVV.,.
R , S
S o
S NN NSNS NN SN
w«wv\\\m\\\\\\\\}.‘\\\\\\\\««««m«Q\.&«mm\ym.«m\\?x\x\\%WWWWNW%WWWWW«W&«%WWW&%M«M%&«W%MvMWVMWWWWWWNW SRR

T
G s Mw&u%v, i
.
R R R R R BB R R

i
R R R iy ST
S S




obwsl

Sl luS &350 (9] el ouand 2330 31 (5 705 w0 93 B(Y,Y) g A(b—1) bli
VY0 (F VY (Y (Y Y0 ()

Sl aslg ¥ plyp MX+Y =0 b I (V,) ahii alols an ladie plas ol5 &

A Y ¥
— (f — (¥ —— (Y - (\

Y ¥ Y

\ -
§ ! plus : +—— Juols ol b X=Y+/7YX-) S
x—-Y x+)

¥ Y \ \
— (f — (¥ - —

\y i Y A

St 6 S R={(F,),(,m) (1,¥), (m, 8),(F,m" 1)}ty m e p1as sl o

—Y (f —y Y (Y v Q)

Sl plas £(X) = YX—[¥YX] a5 0y

(0] ¢f (o,) (¥ [))] «¥ [2,)) O

e ¥ g ) Comd 4 1) CD g AB 51 Wlgblite CD=1A g AB=YY 59 g5 «glopls Jols o
TS o0 ghad o a5 43 [; AB 459 CD oSSTeiss

ALY (F v (* Y,f (¥ 8, (1

Sl plaS 98 o 2y I yidio (wlow o3Il .ailg 5 wloo 9lg 4 g F slaglad 40 ls 9o

VY (F Yo (¥ A (Y Y0 ()

51 sl sblo ABCD ol oz

fewl 4y Wi D aglj il

e | >
- | &>
<|»

Vo (F VYo (¥ Yoo (¥ Yo

$ sl IS 5T bolrs 0 s Al (32 S35 51 ol 10 Aol TY a4 £3LY I ggluso Eulo 5o
7
— 10 NO ' Q)

iy 03318 3 A ol 1 a5 olow ankad Job )51 .l e slopls wAC=3,AB=1F als g b 2l
funl plas’ edio pguw gl Jobo il axly # il 1 99 o0

VY (f VY (F Vo (Y AQ

Seawl @ g plaS & VX3 P(X) 0,035 auds

Xx;P(x) ¢ Vx;~P(x) Ax;~P(x) «v Ix;~P(x) ()

fel plas’ {a,b,{a,b} {a},b} sacsazmo 15 slusi

Yy (f Y¥ (Y VoY AQ

=149

-1y

A

—\ef

-1+0

~\ep

-\-v

-\+A

W

-1

-1

-1y



olusl

T sl o y3U e gozo 50 alasly pluS olT iy AC B )51 -NY
A'cB (f B cA ANB=A (v AUB=B @

fcast ol sy (ANBUA))N((ANB)UB) acgozo -NF
B-A (f A-B ( U« D (\

fogbon Jol> &l S5 AXB acgozme il i wiz J3Y Sis 4 B={Y,1,v} s A={1,7,0,v,3} 51 18
VY (f : Vo (¥ (Y A Q)

. \
SaiS g0 aad Job plaS s bl ,3 1, y=sin' X b fogeiy = b3 IV

kr = 4 km km
—+—(f km+— (v — —
Y ¥ ¥ f Y
Sl plas (AN ¥X = COtX aldlao S e -1V
kn = kn = kn = km
—+— (f —+— (¥ —+— —
YoA Y of A ¥
. Y—cosx
SCuul plus lim v Jels -1A
X—Yo X
Y J
I— (f +oo (Y A== (¥ —o0 ()
Y Y
X +VX+$
Sl plas F(X) = —————— &l loged pil8 ilmo Aolra -1
Yx +0x+Y
Y -y
X==\,—#% (Y x=—~;,-—-\ (¥ X==\V (¥ x=—Y— (

\
Tow! Aigls 095 w8 il & alxo yo f(x)= —'—l-—l &b Hloges —1Ye
XX

A

L A
-

>

R
_

v

v

(f T 4




bl ,

Yooy ! o

el plos B ilo XB= ilo doleo 51
Sl o s [—Y A] [" Y'} [T 4 2

149 'foT Y4 VY ARG
(f (Y 41 Q!

AW Yy 1 A A A A
Iy Jols olad mhaw 005 o0 31908 b5 Joo d bs g wicwd ablie O asgly LA ahais )0 £ 9d bs g0
Sl plas Lol> alain bummo .oud o0 &b A abaii jluslg F aloli b £y dgos glaxio b
frtano (f ATt tan o (¥ ATcosal (Y frsino ()

Flew! bl acgomo plas ¢ cwiddr (S0

s s Sy o adly T aen (¥ WIS S i (S S sl B O

Wl S e Shg S LT don (F it o Sy 5o Wl 5l S (F
Cusl po BT cdlo wiz Lol o e bl acgome H1i5 31 eqgldilgiun! prbans oSy g Ao Sy
b (f ¥ Y va

c.\#‘géil»alédgAMi)"g»‘gfM@QPW}‘J&W@M&&».M'PM,&A%
Flaw! plus (sl
ople S (F ol g0 (Y Silse b 90 (V  azmis (55lge Ja G ()

Yo
flwwl Cow ol (g pFam plus VDA =Yoo b  igied aluly ;i

Y 3§ s Yo
a=o (f b=o (¥ va=tb (v va=¥tb ()

Sl IS A (b SUE (39 i g Bl prdy i IV oue o V042 sus 81

VY (F Yo (¥ £ (v b ()

23,10 Ol Z acgommo )0 YPX+ YAy = YR+ s aloleo 1 cruub dus plas ol 4

£\ (F YV Yy Ya ()

395 oS dalepgundia 31 anly ¥ 1 it (S5l owilondl 3 Ceomd 55 b gab 305 38 S8 i 59
flawl plas’ q yolio .09 0 o 0uilowdls g o ABLS] Caomd 15 4 w19 O

Ao (F f,9 (f 8,A (¥ 8,00 ()

Sl 42 39, plaT JUo cylod 53 6lodls yo 1) cidly dnos (Jlus K3 33 cyage IV ST

a g (F Al (Y g (V acsSs ()

-7

-\vY

vy

-IYF

-17o

-\v#

-\vy

-\YA

-174

—\Y.



MBI b I pxio 90 ol .Gl Xp = Ft—A 9 X4 =—Yt+ 15 b 00 4 ST ;o I oo g0 5 > dolre 1YY
§SS (0 y90 Tin 31 a4l iz o
A (F 7 (Y ¥ Y Q)
3 Sy £aph 3l g 4l S 0 5oy £ 95w JLo 3 Sl G b conly S (595 (5 e —IYY
m
S o lid 83031 .58 g0 youe YF— ety b Xy = YYM S I t =+ FS &ixd 10 9 X, =AM (50
s
Sl agli jgimo p yio Wiz
¥ (f Y Y (Y Y ()
T 1 Yo, Pm glaryl 51 o 51 g 4B Y g 090 Wy cpmoj e 51 gLa5,1 51 M5 Layl s 4o glalglS —IYY

m ¢ fap
(g=i,A—;)?wl@U’,¢,:;oxew,'@bwqo;,:.‘»,.;i.h’:dp SV Lo OWR- 31 Rt BRVL gp Sy W oppev g
s

fo (f Yy (¥ YA (Y Yf QO
30 Symin glals 851wl .ol SO Gillao WS 0 S > X oo 69y AT (S e o) s Hlog0d —IYF
V(-—n—l-‘) Tlaw! yio Wz (Cawl X j9mo Cugr OIS g odigl OT Sy aS (slo3L
S
Y Vo (O
YA (Y
Y (v
Fo (F
. 2 t(s)
—st-

Flawl odiguls Wi &S ) 4 by po ) sl ,loges I SHplas —1YD

X

« O




S 5d

T, §
Ol plas 7rl el 3207 S (5LBGS Jrwgi M 52 41 514359 ( JSb allao
\
VO
\
Jr o
| Jr .
m ¥

W aoyd MY (o s 31 (glalold azr 50 (39 (Sa3t Sl Wl o gl 59 (oo 039 851
(! u.g,o} 5)5 &L'.& Re ) Sl

X Vo \ \
—R. f —R_ (¥ —-R. —R. QO
A C g ¢ g °© v ©

S iz oy Jawg 50 5 bl ke ¥ Loy Job 1 0is 1200 593 Qoo aligBd o 50 0,80L G loey
el 4wl
FoTl (¥ YoTt ()

Yfom (f \YoTr (¥

P ol a1y Yoog &js by g wadige YYOM 56 Job (owiS (o0 olinsl 58 Sy 4y |, Yoog &ij9 25
fan! o gl iy 8 ddgl Jobo dsyo0 YYCM & 113 Job wuiS o0 o9
Y\ (F Yo (¥ e ¥ o

m -
Ll ooliam] cCawl CS yo o 50 il @ g, Y—‘T Gl b a5 g emilwl (4950 BoKkg po 4 pamds
s

(8=/A) Tewl pgigs diz ad y 0)ls slog i Wl 532
S

bdo (f fdo (¥ Yao (¥ Yoo (A

¢ km , : km | :
23,5 (05 M_h— GO L 9 S (o0 9595 32 sloslged & A== il b Yoookg ey 4 (2195095

OF g W IS (50 3,19 95095 41 0)lg20 4T rwgie (S9p (Frp ISy Job o )TS 3,95 » (loj e 5]
Sl

-

Vol (f Yo (¥ Yo! (¥ Yoo ()

Tl 800y 5 BT duwgio alol 5 V/¥FX10T kg o 8AAXY0"" kg cui ey olo 5 ome) pr2

Sl (9 gud do AT 0 Oylg S aSy Ay olo g oy A (gl Sh1,F (59 5 A po el Y'/AT‘X\OAm
N.m

Y
(G= 5’/?"\/)(\0““ 'E)

\OYY' R \OYY « Yo A

Yo

41 Yo O ()

-\vs

-1YyY

-\YA

-1ve

Vfe

¥y

~\FY



LF (5o d 205 (H959,500 ¥ glalais (S0 Ul 5L o 1 ALl 51 (oS 9,50 A (glaais (S sl 5L —VFY

Voo . . . .
Sl 1) TF (533 4t (oH59rKeo A sl 4 slabold 4z 5 GilgS5San ¥ (oS80 Sl S o s

?ASS‘SA
7
AAR Jrr oo fr (¥ Yr (O
Y
Sl Jo wly qy 5L 2 0,19 Al (SO SN g9 g Wilcul g glakadi (SO Sl b dw o o3 SO y0 —1FF
¢l p'»\f ‘q"l‘
qy
vd d
® -© ® maY
q qy qy Y (Y
—F (¥
£ (F
. =0y Ym 079m ..
LSML:.BJ )L‘? .JJ)'O )‘)3 B g A ‘SLQM 39 Mﬁ.’f & q‘v = T’},lC 9 q\ = ‘YuC )‘é)l.f G)\) sé )
—oy fm O/Am
Sl o o 32 9,1g A (52 55U (6955 5 oad 51,5 slalis az 33 1) Gy
O/fm —o, Ym o,¥m o
(¥ ¥ (¥ Q
O/Vm —oy fm 0/\°m o

Qy 5b 2 5lg (A G955y wiyls 518 Yoom als 4y ap o baly jo UK Gallae Hlo,b 5,0 4oz -VFF

Sl ogised 9z

Uy Yuc (I: opC "
Y (Y
Jr o
NI
e &

qe=-fpuC gy =-TuC

ey Bo StaissS ooyl e a HF (5 (S50 g9 & dloldyo —¥q 9 Yq layl boyd 9o -VFY
19 (SR e )8 o2 ST Aol jlea ;0 1) ol jb 9 g puS ALl (6,500 4 g peylop byl 51 SO
Sogu o0 ' ol o iz (iS00 04l9 o2 s a5

(f

o AR A
Y ¥



Ay 34 2 05l AL (KPSl (59508 Sy 5T 051 5158 Eulto Sy iy a3 51050 5,8 duw (JSS Gallao —IFA

N.m"
ay  (k=axye ) Sl (1g9,50e Wiz Q5 il 8oYN i,
> Fr C
fo
Y Q
fem Y
Yo (¥
qy=fuC Fem fem gy =-fuUC
' —Vo (f

SR S S0P Qp 4 o Y 3y Hl8 gy lakadi U 3T Aol jo &S 1y qy ladadi SO s LL LS -YF]
ol o i I 09l o0 il 3o VF L@Tuuég';\ﬂ“_gg}u
A 'Y
— (f — (¥ Ay 0
Y I
$95 3 oS uasd i |y LT (g Aold g oS il W 1 sl 5 90 51 Sy (S 5SUI ,L 85050 551 10

009 0yl iy Lal oy (SO Sl

Y7 (f f( YWY (Y YA ()
15 5 03,5 il 10 AB iyl yh 10 3 a5 saloyT wiS o b 1y ABCDA 552 ooil oS5 JolS 515 Jgo 5o 10
o J
(Cp=-"’-R,R=A ) Sl Jo5 sz Gy 4 il 0010 pleil CD wislyd 40 55 g9, baaxo a5
P \ —\PoojAooo Q\
\foo P Aooo (Y
. “\‘A - B +\foo P —Aooo (¥
§ \“\‘ “\ ‘‘‘‘‘‘‘‘ P\ o, et Ty = AooK YYoo 9 fooo (f
R R T, =rooK
................................. T‘=YooK
v

29 ) Sy Jolae pa 970 (595 ey b ST .Canl 00,5 (b 1) AB syl pail ST ol 5 Jgo o) -1BY

G551y g 00l plail wiulyd il yo 55 59 o a5 (6,5 b JISWl 168 Joleo jLUS oo (59, vy

P - rS . P & -
fowl Joi Wiz o 7 a1 55 g0

FYoo 5 —YYoo ()

Y oo 9 YYOO (Y

A Yfoo 3 —Y¥oo (Y

ke Yoo 5 Yoo (F




Fo of saign 033b 9 F T 3)5es oy 5T b ign bume &1 Loy Jgohes Bo di ya 5 Jlois oSy —1OY
J21o pluzrt 51 LyS Jojoles wizr 9 wiS g0 S pan (i8Il (6551 JojaheS Wiz Ads yb 5 bl duoyd
0 yu5 (o0 Jlariy
fo, Vo (f Fo,Yb (¥ fo,Yd (Y YO, Yo ()

B0 e bt IS V/BXV6" T as sz 10 15 comible ol Conl wioyd T8 (s 3 Joms 3950 craible S 0554 _1OF
fowl Joj Wiz 4552 52 5 yeige 3l ould 2,5 Lo,
YXVo© (f VoxYe' (¥ aXVe' (v Yo' ()

lod gaio 31 LS Food a5,z 1o 40 cpudle ol iS po IS 50K 4 YooK Slod (s 55, il S 100
§0550 0015 (rly Lod aio 41 Lo )5 g5 wizy 45 52 58 38 .08 0 YU
oo (¥ Yoo (t Yoo (V Yoo ()

Syl o0 sloday Jolxo 335 3,5 3y90 iz —VOF

S399 58 pyw @ gl g,e 0
S 90,5 sleyd g slan @ lrg;095 yo il 54 s @
¥ (f Y AN41 ¢
(B oLl b3 slorye Gl 30w 092 9 bl (3l slarye ol 3O . o9 VY
A3y 00 O 43 1) (032 w030 o yidn
Ca™ . Na™ (¢ Mg™ . Na® (v Ca™ . K" (v Mg™ . K* ¢
Taslion Canaty 3T 31 Jgo S 51595 Sad 3¥g0 0/F Jplino yid iy s 1 ~10A
¥ (f Y (¥ Y ¥ Q!
0990 005 JaSld' T 53 Jolonoli o0lo ¢ )50y b o3lo 90 plaS ¥ga ) Jolo 05 balso 51 -164
Ol s 0,85 9 9y IS ydn (Y Ol pandS g Slid o (A
W sl 5 S o (F W15 )l 5 g myos (7
Flowl Cowyd (6 s 31 0l 0015 GlaasS i dab 9o ygliieF 8Ly i i plas —VFe
H,O>H,S>CO, (v H,O0>CO, >H,S ¢
CO,>H,O>H,S (¢ COy >H,S>H,0 (v

294050 0oLzl Mo plas 51 ¢ blage 9 (oulyT ¢ 19500 Slgo angs (gl —1F)
ol (F Sl of Al Y Jsst (1



Tailcww yo p ) dlae 1 0590 aiy —-VFY
1355 Cawyd o1yl O 558 ST 31 (i (o0 yulali Jos @
O3S AnlS (y3 g ol ‘lg')és,:“' 3l oled o0 (woSmo jouwl 3l (g S0 b @
33,5 o0yt 995 ST Clo 4 g yaT 4y jownl By 1 1 oodly Hlus @
NI dpiai gy (irhwo oo SB35 (Slo 9 rgSae jousl 5l S0 e
¥ (f Y (¥ A4 Y ()
fansl tSen o Wiz 390> 53 JLunSy 50 359 58 (5l O (50 (ol Kby oo sl 1 &sly 2 -IPY
Yoooo (f Yoooo (Y Yooo (Y Yooo ()

Sl 53 « 5 dlao 313,190 pluS 0dlo duw oy 4392 il (PP L ey JSD &y azgi b -1PF

v““ sl bt el 30 A (g 9y il (7

] . ol it o358 55 € s g ool (o

; e K 55N e 53 € sla 5550 6 S (i
f%‘ Sl C>B> A i iay b 5 o1l (Jos0 o slog ya 508 (&
g o oo ()
& s (¥

r I > o J (Y

o e < ol (F

(D) okaB g0 jlies
Sl w38 (i gus panndS’ g Ol i poaigel 55Uy cllae plus” —158

Ayl (Kb 5o steliw 0,8 ()

Wyl o o Sy iy Dol (¥

ol Sy T 808 s Jolone Ygo il (¥

sl Sy 590 (i S i pgiigal (9lS guain JSI (F
o i L) $003 18 o0 5l Cormb 4y @y pledds Caled 50 codlitwl Iy 05 Olge 51 Syplus VPP

_ (09 o0d

a (F S sl (¥ oYgd (Y aials ()
Sably g yo  paic pIS 43 ilgi g0 03 ST 3es 15V

ol y2.dq JSb (goroler @

e iy y1SIN g Lo g Uil @

A2 o0 Camwd (39 Sl S50 sapil b STy jo @

Si (f C Pb (v Cl



£

Fudlaw 5o ¢ 5 Cdlao 31 0,90 sz —1FA
ol gy 30 s 9 B3I Hlouds 31 Lo s Loty @
)10 gl (5lo 90 Jgaar (YU g ol y Caoun yo la3L80 @
Wigab o0 (AU 3180 g 3L (w0 Glgheas dasld acls @
ol S0 35 UL (ool (ples 4 bajld ah (o lionds (plgs @

¥ (F AR\ vy VO
T10 59,581 B 095 il d &Y 5 30 o Liwd Aawlg pais 90 plas 154

wMn, (Fe (f wMn, (Cr v wCo, Fe (v vCr, oV O
Nigd o0 J& 1 3RB 3O werverreeneeansannens P I — P P—— —\Ye

Oelily - OgR) (g, - 0pl (¥ JSlS OhsT— - 008 (O

0y9l = U5y B9, = (STt S (F Ot = JoSelS Glsl - (SThes S (F
S0l o0 ygilo (SuiTSY cdas als el (ol o cauS 5 plus 3959 -1V

%,959l8 oo (F Slilgas o e (¥ S8 il (¥ 2,18 o (0
9039750 092941 (LB Jolmo (0 10 upusST plasS’ (s Jo> —IVY

S8 $ (3950 o (F S8 (55 0,55 (¥ ST oy (¥ saSTeo (S (8

8x107F 4y o Jplmo o H' clilé ylaia T y2d K4 30 (g2 <1 gl <S5 31 g 07001 ks o s VY
ol oS o iy sl nl Ky ladio oy g0 5 32 Jgo

-y ~f

aXVo T (f Vool (v BXVo T (¥ Voo ()
Sl yid 31 Jgo iz 3] 30 pgudgyiad (91 CAALE ol V)V il ()5 4iges S PH -IYF
¥xiyo T (f YXVo (¥ YXVo T (Y ¥xyo ()

Sl 1S 5T PH .l X107 1l 0ig yiud 39 il o S5 84 o8 8 ylas 1 glaigni 40 1V

Y¥(F YY YV (Y Y/F O
el put (o @olo b Gl pluS (1092 (ol (gl ime —VYF
odxe (F o9 (¥ 03g, (¥ o &lu O
€315 chanl A Copuols o0lo plus ~1VY
MgCl, (¢ Mg(OH), (v NaHCO, (¥ AI(OH),
Founl oS ¢ 5 5L 5 Aoy Sl adgi' (g VA
stlrontig iUl STg plosil (Y oijle sloyais 4 Slge 4526 ()

W 350 @ (2le)5 (6550 oo (F 3k g sl b (23 sla STy (1



&

' aa~ned

VY axio
ol Cawyd o) dllae 310580 v —1VA
391 o0 Cawddy (yg Sl coviunS T AigS 2 @
] “Jgr"&” oé)gT Cemwddy ,o,@.ﬁ.o a u‘&w‘ ®
!l oS &39S 1 o (o o b HIS JSSTg jo @
ol dlS e ol a5 3l dgn 30 0,545 (S g WS1g @
¥ (f ¥ (Y Y (Y V()
!l o 58 «ligus (I1) oo 2T Jokono b paioglT (26515 5,5l 50 cdbao plas’ —VA«
el sasals (Cu' " (aq) 95 ()
o Al(s) = Al (aq) +¥e ™ g0ty (iluST (23STy pes (¥
el VYl ol 3o ai3lge Uolre ;0 (6 %08.S gl (slocn o Egarna (V
sl CUT(AQ) 0,555 51 st 039,550 28,5 4 AL T(2Q) 58 Julos (F
f
(
o (@san Jesheducatmngroup ,_,.aw wloyT slcyge ;T pf ,:la Juts

las 355k gl s b il ‘sgb.wl el 45 o o y0 OLS ol axllao p ogdle ol oo Slpdey )a}.c uu.bgld d.h
- (www. san']&shshop,lr ‘3...» ,.»Lx_...a )9) WS A 1 b «ans a‘\o u“""‘“‘» sols a...c,.n:u ‘a )!mtwh

A 5 N 19 R

st e, 3 S o somrc:




